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(1) R2~Re B £ F5IRHLEE
R2~ROIZMLIAEE | = HIf x |BEEEOREERE = R2~ROEGETHIL x EHREM
73,500,000 = 5 X 14,700,000 = 588 X 25,000
(2) RI~RIR B XTI HEEE
RI~RITIZMEHREE | = HiR x |[HEEORBERLE| = RI~RIERTHS x FREM
130,000,000 = 5 X 26,000,000 = 1,040 X 25,000
(3) RI2~RI6R B EF5IRMHAE
RI2~RIGIZMHMREE| = B x |HEEORBEHLE| = RI2~RICERETFTAN x FREM
167,500,000 = 5 X 33,500,000 = 1,340 X 25,000
4) RIT~RAIREBEFFIRMEE
RI7T~R21IZHt#58 | = HiR x |BEEEOREBEHLHE = RIT~RAGMTA x FREM
165,000,000 = 5 X 33,000,000 = 1,320 X 25,000
(5) R22~R26X B 751 HL4E
R22~R26I1Z2Ht#5E | = HiR x |BEEEORBEHFLE| = R2~R6IERMTA x FIREM
105,250,000 = 5 X 21,050,000 = 842 X 25,000
(6) REEXBIRIEHRE
Rt = R2~RGIZIL#AEE + RI~RIVTIEHMREE + RI2~RIGIZHIAEE + RI7~R21EH{R%E + R22~R26{EHt#%E
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641,250,000 =

73,500,000 +

130,000,000

+ 167,500,000 +

165,000,000 +

105,250,000
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(6)

R2~R6X B EF5IR 5
R2~R61EH#%E | =
127,625,000
R7~RIT{CEE 5121
R7~R11iZ{it #4258
203,500,000
R12~R16 B EHiRE
R12~R16i2{t#2%8
297,500,000
R17~R21I R EEHIRE
R17~R21ig{t#0%8
332,500,000
R22~R26X B 51T
R22~R2612{t#2%8
270,250,000
R27~R31 B EHIRE
R27~R31ig{t#0%8
105,250,000
REEHIRERE
RRE =

1,336,625,000 =
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H21~H25

B x |HEEOREEBHE
X

25,525,000

B x |HEEOREEBHE
X

40,700,000

B x |HEEOREEBHE
X

59,500,000

B x |HEEOREEBHE
X

66,500,000

B x |HEEOREEBHE
X

54,050,000

il  x |BEEOREBXHBE
5% X

21,050,000

R2~R6IZHL#AEZE + RI~RITRHREE

127,625,000 + 203,500,000

H26 ~H308R = #E 3k
433 +

+

R2~R6EZHA T iHI%R +
588 +

R7~RUERH FRI%k +
1,040 +

R12~R1GERIFAIH +
1,340 +

R17~R21ECFAIH +
1,320

+

R22~R26ERiFAIH ¥
842

X

+ 297,500,000

H26~H30

R2~R6ERHEF RIS )
588 )

R7~R1ERIEF A% )
1,040 )

R12~R16ERIEFiHIZk )
1,340 )

R17~R21ERiFiHI%k )
1,320 )

R22~R26ERiFilI%k )
842 )

E R
25,000

+ RI2~RI6IZHE#EE + RI7~R21{ZHHR%EE

+ 332,500,000

R2~R6

x EIRED
X 25000

x EIRED
X 25000

x EIRED
X 25000

x EfwEE
x

25,000
x EIRED
X 25000

R7~R11

+ R22~R261Z{E#%E + R27~R31{ZHHRZEE
+ 270,250,000 +

105,250,000
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H16~H20 H21~H25 H26 ~H30 R2~R6 R7~R11 | R12~R16 R17~R21 R22~R26 R27~R31
[Bf#to3aL—23ay]
(1) R2~Re B L F5IR 4R
R2~RGIZHLILEE | = WM x |HEEORBEREE| = ( HI6~H20IEMREES + H2I~H25IRMEMES + H26~H30ERMEMER + R2~R6ERIRFAIHK EREE
388,375,000 = B5F  x 77,675,000 = ( 1,167 + 919 433 588 25,000
(2) RI~RIKR B X 5IRHEEE
RI~RITIZMLIR4E | = HIf x |BEEORBEREE| = ( H2A~H25ERMEES + H26~HI0EEMEMES + R2~REEGMEFAIS + RI~RIEGHERTAIR ERE
372,500,000 = B5F  x 74,500,000 = ( 919 + 433 588 1,040 25,000
(3) R12~R16HX B £ IR HLEE
RI2~RIGIZMMEE| = B x |HEEORBEHLHE| = ( H26~HIOIGMEES + R2~ROERBFAIE + RI~RIEGEFAHK + RI2~RIGERHRTHK ERE
425,125,000 = B5F  x 85,025,000 = ( 433 + 588 1,040 1,340 25,000
(4) R17T~RAREEFIZMEE
RIT~R21IZMtH%E | = HIf x |BEEORBESHE| = ( R2~REEEETFEH + RI~RUEGRTALK + RI2~RIGEBETFTRH + RI7T~R2EGHET K SHIREE
536,000,000 = B5F X 107,200,000 = ( 588 + 1,040 1,340 1,320 25,000
(5) R22~R26X B 751 HL4E
R22~R261ZMLMEE| = B x |HEEORBEHEHE| = ( RI~RIEERTFAN + RI2~RIGEETHLY + RIT~RAGHEFAK + R2~R26ERMTHLK ERE
567,750,000 = B5F  x 113,550,000 = ( 1,040 + 1,340 1,320 842 25,000
(6) R27T~R31 KB EFFIZMEE
R27~R31IZM#EE]| = HAR X |MEEO/RBLHEE = ( RI2~RIGGRFAS + RI7T~R2EGBFHH + R22~R26ERHTAIK x EREE
437,750,000 = BF  x 87,550,000 = ( 1,340 + 1,320 842 X 25000
(7) R32~R36HREEFFIZMEE
R32~R3GIZMMEE| = B x |HEEORBEBEHE| = ( RIT~RAGMRTFEEK + R2~R26ERET R x EREE
270,250,000 = B5F  x 54,050,000 = ( 1,320 + 842 X 25000
(8) R37T~RAT KRB EFIRMLEE
RIT~RAVIZHIREE| = HIM x |BHEEORBEHEH| - R22~R26ECIAFRIZK x [HIREME
105,250,000 = BFE  x 21,050,000 = 842 X 25000
(9) REEHFIRMNREE
RHREE = R2~ROIRM#REE + RI~RIVIZHEIREE + RI2~RIGIRHARE + RIT~R2UZHHE + R2~R26{ZMHMEE + R27T~RI1IZH#REE + RI2~RIGIZHEHEE + RI7T~R41{ZHHRER
= 388,375,000 + 372,500,000 + 425,125,000 + 536,000,000 + 567,750,000 + 437,750,000 + 270,250,000 + 105,250,000
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[Bfto3aL—23ay]
(1) R2~ReR B L F5IR 4R
R2~R6IEML#REE | = MM x |HEEORBESBEE| = ( HI6~H20EMEHES + H21~H25ERRERAE + H26~H30ERIMAEMEM + R2~REEGBFRHTY x EREE
351,625,000 = B5F X 70,325,000 = ( 1,167 + 919 433 294 X 25000
(2) RI~RIKR B XTI HEEE
RI~RITIZHIREE | = HAR x |HEEORBEHEE| = ( H2I~H25ERREREE + H26~HI0ERMEMES + R2~ROERHEFAIZL + RI~RIEGHRTAHTY x EREE
307,500,000 = B5F  x 61,500,000 = ( 919 + 433 588 520 X 25000
(3) R12~R16HX B £ IR HLEE
R12~RI6IZMLMEE| = B x |HEEORBEHEHE| = ( H26~HIOIGMEES + R2~ROERMETHAIL + RI~RIEERTFAIL + Ri~RICERTUHTY x EIREIM
341,375,000 = B5F  x 68,275,000 = ( 433 + 588 1,040 670 X 25000
(4) R17T~ROIREEFIZMEE
RIT~R21IZMMEE| = B x |HEEORBEHEHE| = ( R2~REEMTFHIZ + RI~RIERETHE + RI2~RIGERBETAR + RI~RAERTUHTY x EREE
453,500,000 = B5F X 90,700,000 = ( 588 + 1,040 1,340 660 X 25000
(5) R22~R26X B TR HL4E
R22~R26IZME#A%E = HIfl x |BEEOREBESZE| = ( RI~RIEEFHE + RI2~RIGEHEFEL + RIT~RAGHETEL + R2~R6ERTHHFY x EIREM@
515,125,000 = B5F  x 103,025,000 = ( 1,040 + 1,340 1,320 421 X 25000
(6) R27T~R31 KB EFFIZMEE
R27~R31IZMt#EE| = HAR X |MEEORBLHEE| = ( RI2~RIGRRFAS + RI7T~REGBFHH + R22~R26ERHTAIK x EREE
437,750,000 = B5F  x 87,550,000 = ( 1,340 + 1,320 842 X 25000
(7) R32~R36HREEFFIZMEE
R32~R3GIZMMEE| = B x |HEEORBEHEHE| = ( RIT~RAGMRTFEEK + R2~R26ERET R X EIRH(®
270,250,000 = B5F  x 54,050,000 = ( 1,320 + 842 X 25000
(8) R37T~RAT KRB ETIZMEE
RIT~RAVIZHIREE| = HIM x |BHEEORBEHEH| - R22~R26ECIAFRIZK x [HIREME
105,250,000 = B5F  x 21,050,000 = 842 X 25000
(9) REEHFIRMNREE
RHREE = R2~ROIRMEIMREE + RI~RIVIZHEIREE + RI2~RIGIRHRE + RIT~R2UZHHRE + R2~R26{ZMHIEE + R27T~RI1IZH#REE + RI2~RIGIZHEHE + RI7T~R41{ZHHRER
= 351,625,000 + 307,500,000 + 341,375,000 + 453,500,000 + 515,125,000 + 437,750,000 + 270,250,000 + 105,250,000
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(1) 4#{E%AI%42,700M /2 (GEHR H{fi25,0000 5 E H)
Q) REBEFOFREE10%ET S

(4Rt 2a

L—y3v]

(1) R2~Re B L F5IR 4R

R2~R6IZML#REE | = HiM x [HEEORBEHHE =
251,076,000 = 5 X 50,215,200
(2) RI~RIKR B XTI HEEE
RI~RIIZEREE | = HIM x |BEEOREBEHBE
444,080,000 = 5 x 88,816,000
(3) RI2~RI6HR B EF5IR AR
RI2~RI16IZM#5E| = HiR x |BEEEORBEHEH| -
572,180,000 = 5 X 114,436,000
(@) RIT~R2I B ETFEIR %R
RI7T~R21IZME#EE | = HiR X |BEEEORBEHEH| -
563,640,000 = 5 x 112,728,000
(5) R22~R264C £ F5IR 1128
R22~R261ZME#5E | = HiR X |BEEORBEHEH| -
359,534,000 = 5 X 71,906,800

(6) REEHIRUH

REHRER =

2,190,510,000 =

R2~R6IEHt#%E +

251 ,076,000 +

R7~R111Z 2%
444,080,000 +

572,180,000

+ R12~Ri16ig{it{A48

+

R17T~R21ig#t#%8 +
+ 563,640,000 +

R2~ReEZHATHIZR x fH{EZE -+ FIRE - HEHMN
588 X 42700 + 0% + 5%

= RI~RUEEMFAIZK x HEE - AEFE -+ FEHHE
1,040 42700 + 10% — 5%

RI2~RI1GERIAFAH x #HEE -+ FIHEFR - FEHME
1,340 X 42700 =+ 0% + 5%

RIT~218RiFRI% x #HEZE -+ FHFE - HEHME
1,320 X 42700 =+ 0% + 5%

R22~26ERiFRIE x HH{EZEE - RMHEE = HEHM
842 X 42700 + 0% + 5%

R22~R2612 {4t #2%8
359,534,000
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0
R2~R6 R7~R11 R12~R16 R17~R21 R22~R26
[R2~R26FE THERIE T B A ET]
588% + 1040E + 1340% + 1320& + 842H = 5130%
[5ERDER TR EHTH]
5130 <+ 58] = 1,026&
(AR &)
(1) #{E%AI%42,700M /2 (GEIR Hi{fi25,0000 5 E H)
Q) REEFOFREE10%ET S
[t 2aL—30]
(1) SEMORBEEKIREEE
SERIOIZEAEE] = HI x |MEEORBLEEE| - seMomERTAR X HEE - FEE - HEHR
438,102,000 = 5 X 87,620,400 = 1,026 X 42700 + 10% =+ 5%
(2) REEXBIRERE
L = SEHORKKRE x FEOLELAM
= 438,102,000 x 54
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